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A toy box has 6 faces that are
squares.
There are 12 edges and 8 vertices.

Identify the shape of the toy box.

iy

triangular prism

) gl

23y Slusl i - pladl jlusll - Gusladl Giuall

sVl Al JBaVI eiles wsg-P1

Arye dag) 6 Sl Egtio el

w435, 8 gada 12 sy
el @ gl JSE aaa
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triangular prism

45\ gl

cylinder
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D eisiaasy (gl ylill oyl huai Bylall jSpe) Byilall palic 3yand-P1
The diameter of a circle is 24 m. 24 m layhi 5,
Find the radius. .kl Caal da
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O 10m
O 11m

O 9m

O 12m

24 m

.
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Which of the following figures is

a regular quadrilateral?

gl Y

O

R

A o 20- 4 o o 8B . kLS - zan bbbyl - sl luel] - Guolsdl caall
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The double line graph shows the
number of pages two students read
over a 2-hour period.

What is the size of the interval on the

vertical axis?

A o 20-7 O‘ C BB L - zan Lol - sl leel] - puolsdl Guall

2 7gajall adll Slal) Joall) meag,
Aslu 2 PG ol g 3l cladal)

Reading Chart

y | == Student A
' Student B

0 » |

30 60 90 120 X
Time (min)

60

Number of Pages

- lnaaal! i

| Bl pat) Jalases

60
y - A 3\

4o ‘ B[“—‘“““

' |
0 T |

30 60 90 120
(A 35) (pe )

>
X
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1
Complete. s
7kg= _ g
O 70 .a
O 70,000 b
O 1700 <

O 7,000 d
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D Complete. . Jas]
500cm = — m

O 500 a

O 5,000 b

Qo.5 ¢
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- A A A X A ) 4 A X X X X K
-ttt Attt
30 35 40 45 50 55 60 65 70 75 80 30 35 4O U5 50 55 60 65 70 75 80
Price (AED) (AED) st !
O AED 40
O AED 35
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O AED 50
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Which comparison is true? Yiaaal oA Al s/
O380 mL = 0.38 L &

O38 mL > 0.38 L B
O380 mL > 0.38 L K

@ 0380 mL = 0.038 L d
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The table shows the height of the g fufj e Ao 5l gk Jgaall mags

flower over four months. LUl Wil Ve (0l

Construct a graph of the data. Cala 2 3R Jh iy aS
How tall was the flower in May?
Flower Height ; ' m
March 0cm be O cm
April 4cm L2 4 cm
May 8cm ke 8.cm
June 12cm ¥ 12cm
i : Flower Height | 2 3.—1:-” Jsdo -
I L i 1 A
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1 March April May June oale byl ala g g
l Month ey
i Flower Height il el
12 o— ; - - 12
i o+ 10
|5 8 4 8
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s 2
0 > 0
Morch April May June
Month
[ . o l
Flower Height a3 Jole
12 ¢ Bttt
10 10
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Height (cm)

Flower Height
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March April May June

Month

Height (crm)

Flower Height
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o N £E o0 @

March April May June
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Flower Height
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There are 8 adults for every ayl) gaa) A S 7 Jd el 8 s
7 students on a fieid trip. Auiiasall
If there are 56 adults on the trip, how 331 s a8 sl B WL 56 2509 Js 2
many people are on the trip in total? *."qu.g adall 2 Cuagagal)
:® 105 :
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Layla used a quadrilateral in her art gasa.al ga &:)L..'ni Sl A Seadnl

design. ‘_,.m.h

The quadrilaterai has all the Slaw JS o 1 g3laY) Sl S

attributes of the rhombus. cOteal)

What quadrilateral did she use? fadariia) (gl &:i..h‘xl PR
e

square
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D Members of the Historical Society o Ll s s Ul dsaaal) lac et
keep track of how many visits they JRadall gy 1568
make to the museum. pae 12 g2 al A ChU s Jgaad) s
The table shows the number of olad) 122
visits made by the 12 members ULl Jaucgl) A )
this year.

Find the median of the data.

Visits to the Museum B el Sk due
this Year B s ladh tos
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B this year.

Find the median of the data.

Visits to the Museum ? caswield L3 sae

this Year Lot 138
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e Choose the line piot of the clabidll Avanall Blail Slad) Jabadll sda
measurements in the table. Jssadl 2 Aok gal)

Board Lengths (m) .
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Board Lengths (m) (M) el Ji gl
X X
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Layla used a quadrilateral in her art gasanal u-‘" &Mi Sl A Seadnul
design. u_m.n
The quadrilateral has all the Slaw JS Ao Ve gAY oL G
attributes of the rhombus. cCpirall
What quadrilateral did she use? Caiasdiu gl 2 PELTRC N
gal 5)sia
O a
parallelogram

Jubainis
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parallelogram

Jukicia

O

rectangle

)
O

square

i...i'i.:’

D °©
trapezoid
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Find the mean of the data set.

Cost of Lunch (AED)

110

90

125

O AED 100

@ O AED 60

Obly degasma) bl buwgiall sloul-P2

b)) As ganal lead) Jacgiall 23l

@ YL - oo p Olab i - plall ) luadl - oSl caall

(AED) lail) dalss

110

90

125
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" Cost of Lunch (AED)

(AED) ¢laidl aulss

120

70

85

110

90

125

120 70 85
110 90 125
O AED 100
O AED 60
O AED 10

O AED 600
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Find the volume of the prism. . gddall aaa dag)

12 m

B =90 m?
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O114m? .
O 204 m? b
0102 m3 C

O 1,080 m3 d




58:56

nll | 20- 20 O‘S'GE

The line plot shows the prices of
hats.

Find the range of the data.

Prices of Hats

X X
X X X X
X X X X X X

—

<

N N S B B B R !
35 40 45 50 55 60 65 70 75 80

Price (AED)

|
1
30

>

= zoap Olualydl - sladl jluad] - Guolsdl Ciuall

dsosal| bladl duoludl OMiedd] juuusi-P2

Sl daasal) Jaldiil, bl Jiadl) prdags

el
Ul cda aagl
CJL'A._JLEJ‘JLQ.AHi
X X
X X X X
X X X X X X
s

30 35 40 45 50 55 60 65 70 75 80
(AED) )
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XXX XX XXX XX
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30 35 40 45 50 55 60 65 70 75 80 30 35 40 Y45 50 55 60 65 70 75 80
Price (AED) (AED) yauud!
O AED 50 a
O AED 45 b
O AED 40 c

@ O AED 35 d




